

تکامل معادله / مشتق بازنهم
C

$$2m^3 + 3m^2 - 1 \cdot m \cdot 3 \cdot \frac{m-1}{m^2 + 2m - 3} \rightarrow m^2 - 2m - 3$$

$$\frac{(m-1)(m+3)}{\frac{1}{m^2} - \frac{1}{m}}$$

$$y = \frac{m+3}{(m-1)(m+3)} \cdot \frac{1}{\frac{1}{m^2} - \frac{1}{m}}$$

$$O_f = R - \left\{ 1, \frac{1}{m^2} - \frac{1}{m} \right\}$$

ب)

$$2m^3 + 9m^2 + 1 \cdot m \cdot 3 \cdot \frac{m+1}{m^2 + 3m + 2} \rightarrow m^2 + 3m + 2$$

$$\frac{(m+1)(m+2)}{\frac{1}{m^2} - \frac{1}{m}}$$

الف)

$$y = \frac{m+2}{m^2 + 3m + 2} \cdot \frac{1}{\frac{1}{m^2} - \frac{1}{m}}$$

$$m^2 - 2m - 3 = (m-3)(m+1)$$

$$\frac{(m-3)(m+1)}{m^2 - 2m - 3}$$

ب)

$$y = \sqrt{\frac{m+3}{m^2 + 3m + 2} - 1} \rightarrow y = \sqrt{\frac{m+3}{(m-1)(m+2)}}$$

$$y = \frac{y}{m^2 - 2m - 3} \cdot \frac{1}{-2m + 3} \neq 0$$

① $m > 1 \rightarrow m^2 - 2m + 3 \rightarrow m^2 + 1$

$$(m-1)(m+3)$$

① $U(2) \cup (3) \rightarrow P = R - \left\{ \frac{1}{m^2} - \frac{1}{m} \right\}$

② $m > 1 \rightarrow \Delta = b^2 - 4ac \rightarrow 1 - 4 \cdot 1 \cdot (-3) = 13$

③ $m < 1 \rightarrow m^2 + 2m - 3 \rightarrow m^2 + 2m - 3 = (m+3)(m-1)$

$$m(m+3) = m^2 + 3m$$

$$O_f = R - \left\{ \frac{1}{m^2} - \frac{1}{m}, \frac{1}{m} \right\}$$

$$y = \frac{m+3}{(m+1)(m+2)} \cdot \frac{1}{\frac{1}{m^2} - \frac{1}{m}}$$

2

$$\frac{(m-1)(m+2)}{(m-1)(m+2)}$$

$$O_f = R - \left\{ \frac{1}{m} \right\}$$

$$+ \frac{1}{1-3} + P = (-\infty, -\frac{1}{3}] \cup (\frac{1}{3}, \infty)$$

3

الف) $y = \frac{m+r}{|r_{m+1}| - |r_m+r|}$

$D_f = \mathbb{R} - \left\{ r, -\frac{r}{r} \right\}$

$|r_{m+1}| - |r_m+r| \geq 0 \rightarrow |r_{m+1}| = |r_m+r|$
 $\rightarrow (r_{m+1})^2 = (r_m+r)^2 \rightarrow r_m^2 - r_m - r \geq 0$
 $(r_m - \frac{1}{2})^2 - \frac{1}{4} - r \geq 0$
 $(r_m - \frac{1}{2})^2 \geq \frac{1}{4} + r$

ب) $y = \sqrt{|r_{m+1}| - |r_m+r|} \geq 0 \rightarrow |r_{m+1}| \geq |r_m+r|$

$(r_{m+1})^2 \geq (r_m+r)^2 \rightarrow r_m^2 - r_m - r \geq 0$
 $(r_m - \frac{1}{2})^2 \geq \frac{1}{4} + r$
 $(r_m - \frac{1}{2})^2 \geq \frac{1}{4} + r$
 $(r_m - \frac{1}{2})^2 \geq \frac{1}{4} + r$

الف) $y = \log_r (1 - \log_r r)$

① $m > 0$

② $1 - \log_r r > 0 \rightarrow 1 > \log_r r \rightarrow r > m$

$D_f = \mathbb{R} \cap (r) = (0, r)$

ب) $y = \log_r (1 - \log_r r)$

① $m > 0$

② $1 - \log_r r > 0 \rightarrow 1 > \log_r r \rightarrow \frac{1}{r} < m$

$D_f = \mathbb{R} \cap (r) = (\frac{1}{r}, +\infty)$

$f(m) = \sqrt{1 - \log_r (r_{m-1})}$

① $\log_r r_{m-1} > 0 \rightarrow r_{m-1} > 1 \rightarrow r_m > 1$

② $1 - \log_r r_{m-1} > 0 \rightarrow \log_r r_{m-1} < 1 \rightarrow r_{m-1} < r$

$\log_r r_{m-1} > 0 \rightarrow \log_r r_{m-1} < 1 \rightarrow r_{m-1} < r$
 $\rightarrow r_m \leq r \rightarrow r_m \leq r$

$D_f = \mathbb{R} \cap (r) = (1, r)$

6

الف) $y = \log(r \cos n + 1)$

(7)

$$r \cos n + 1 > 0 \rightarrow r \cos n > -1 \rightarrow \cos n > -\frac{1}{r}$$

$$D_f = \left(rka - \frac{r\pi}{r}, rka + \frac{r\pi}{r} \right)$$

ب) $y = \sqrt{\log \frac{n-1}{n+1}}$

① $\frac{n-1}{n+1} > 0$

$$+ \frac{-1}{\frac{1}{r} - \frac{1}{r}} +$$

② $\log \frac{n-1}{n+1} > 0 \rightarrow \frac{n-1}{n+1} > 1 \rightarrow \frac{n-1}{n+1} - 1 > 0$

$$\rightarrow \frac{-2}{n+1} > 0 \rightarrow \frac{-1}{-\frac{1}{r} +}$$

$D_f, ① \cap ② = (-\infty, -1)$

تقریباً $(-\infty, \frac{b}{r})$

$b = ?$

(8)

$$f(n) = \sqrt{(a+r)n^r + an + b}$$

$a = -r \rightarrow \sqrt{-rn + b}$

$$-rn + b \geq 0 \rightarrow -rn \geq -b \rightarrow n \leq \frac{b}{r}$$

$$b \leq r \leftarrow \frac{b}{r} \leq r$$

$$D = (-\infty, r)$$

$$f(n) = \sqrt{n^r + rn + r - n^r}$$

(9)

$$\Delta \leq 0 \rightarrow b^2 - 4ac \leq 0 \rightarrow r - r(r - n^r) \leq 0 \rightarrow r - 1 + n^r \leq 0 \rightarrow r - n^r \leq 0$$

$$\rightarrow -1 \leq n \leq 1 \quad \text{فقط } -1 - (-1) \leq r$$

$$f(n) = \frac{\sqrt{r - n^r}}{[n] + [-n] + 1}$$

① $r - n^r \geq 0 \rightarrow r \geq n^r \rightarrow -\frac{1}{r} \leq n \leq r$

② $[n] + [-n] + 1 \neq 0 \rightarrow [n] + [-n] \neq -1$

$D_f = ① \cap ② = \{-r, -1, 0, 1, r\}$

D_f شامل عددهای صحیح است

$$\begin{cases} [n] + [-n] = 0 \rightarrow n \in \mathbb{Z} \checkmark \\ [n] + [-n] = -1 \rightarrow n \notin \mathbb{Z} \times \end{cases}$$

(10)